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PART - A (General Intelligence & Reasoning)

QNo:1  Choose the different number:

ra T e

QNo:2 Iron, Copper, Zing, Plastic = which is the odd one?

g, AT, W, Wiitea - 599 § i o1 faum &7

Pla<id
ISiiea

Copper
GIEH
Zinc

QNo:3 In acode, 'CAT' is written as "FDW', then how is 'DOG' written in the same code?
U &g H, 'CAT' & 'Fow' forar oran g, 9 Sdt i F 'DoG’ & o forar wgem?

GOJ

GOl

moom
o O
I =T

GRH
GRH
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Q.No: 4 All words that are not yet sorted alphabetically are then placed immediately after the newly sorted word, maintaining their relative
order. All numbers that are not yet sorted in descending order are then placed immediately before the newly sorted number,
maintaining their relative order. This process continues until all words are arranged in alphabetical order at the left end, and all
numbers in descending order at the right end. Based on the pattern, answer the guestions that follow the given input.

Input: Craft 71 60 40 Art Skill Brain 83
Question: What is the Step | arrangement?

3 gt a=g T STl T FUITIEHA F shielg T8 gU 8, I8 1Y shAdg 21eg o Sleh d1a TG ST 8, Tored ITehT HIUaT &F a1 @l &1 & g+
TG S AT ek STaRIg! A | ThHaS 731 88 8, 90 1Y HaE 9] & Bl Uge! T@T ST 8, foiedl I-7ehT |TUal & =11 g1 31 T8
ufshaT 99 95 T @<t 8 T a5 o Tt aee 90 8 uR guiigen § AR @it Tl e ok )R aaRid e d eaf@a A gt e fed &
YR W, 76T 71U 3qc & o€ a1 aret i & g9 g1

31yqe: farea 71 60 40 a1 e Afwss 83

WST: T | hi T 941 g7

Art Craft Brain Skill 71 60 83 40

el FRIeT AT izt 71 60 83 40
Art Brain Skill Craft 83 71 60 40

hedl HIGISh hiaTed 309 83 71 60 40

=11 Clrdlrl &

Art Craft Skill Brain 71 60 40 83
el 21T hiere Afsh 71 60 40 83

Q.No: 5 In each of the following guestions, two numbers are given which follow a certain logical or arithmetic relationship. Identify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
32654 : 54876 :: 51763 : ?

e ude uw A gt T &1 178 & 5 ga e arfdhen ar sisnmfoTdia T &l U @l ¢ | THM Oe i Ugam iy 3T g8
Tirs # F T 19 @A o folg 39T TanT shiforg | f&g e fosedt & & w5t faseew 9w
32654 : 54876 :: 51763 :?

73986

73986
74986

74986
72985

72985
[/ 3085
/3985

Q.No: 6 In each of the following guestions, a specific relationship is given between two words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Antonym : Opposite :: Synonym : ?

Tl uds e 8 &t el & ot uer fafRe dee femn man 81 99 2 Y uga e ifaig =it [6g 71Q g & 91y aae o Eee JE
edl g1 A iy g =R At # 4 998 Juged fased 9y
Antonym : Opposite :: Synonym : ?

Equal

R
Same

agl
Meaning

aref

QNo:7 Eight friends A, B, C, D, E, F, G, and H are sitting around a circular table facing the center.
A is second to the left of D.
B is to the immediate right of A.
C is opposite B.
F is between C and D.
H is not an immediate neighbor of D.
G is to the immediate right of H.
Whoa is sitting to the immediate left of H?
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ams =4, B, C, D, E F, G 3T H U IR AW & 9191 31¥ &g < a7k 0 &eeh 98 81
A, DF AN 9 g0 T W 2

B, A &l g} gl

¢, BHfETda g

FCaRD&HE=A I

H, D =T Fihean Uit 481 81

G, H & &l 21U 2l

H & BIch 914 A JBT &7

‘

QNo:8  Choose the odd one: Mercury, Venus, Earth, Pluto
ferem g: g, 315, get, weh

Venus

Th

Mercury

g4
Earth

‘

QNo:9  Complete the analogy: BCD : FGH & JKL : ?
TET TR L BCD © FGH 12 JKL: ?
QRS

QRS
MNO

MNO
PQR

PQR

QNo: 10  Complete the series: 3, 6, 11, 18, 27, ?

e & QR 3, 6, 11, 18, 27, 2

37

37
=

o

36

36
35

35

Q.No: 11 | Statement: Resilience supports recovery from setbacks, but without learning from mistakes, progress may stall.
Conclusion I: Resilience alone may not ensure progress.
Conclusion Il Learning from mistakes guarantees recovery.
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Y o A SAhardTel] & 3991 § Hee hedl g, oifchd Tetidal § 9 541, wfd T 9ot 8l
e |; Srhen aiemg= ool GRS =21 &2 ghan
e 11 it 9 e g & TR AT g
i 7 TRt TR Sl g7
Both conclusion | and Il follow

s | ol 11 EHT argERo e E1

Meither conclusion | nor 1l follows

A &1 Freepd | ofiR A &t 1l SFERu Fdl B

Only conclusion 1l follows

chael e || HAFH0T Rl &

nly cenclusion | follow
| FTEROT Rl

QNo: 12  Select the odd one: Painting, Sketching, Sculpting, Dancing

fawm . s, e, gfdsan, 7
Sketching

FegTfeEoT
Dancing
1]
Painting
lEEETE
Sculpting

Afdman

Q.No: 13  Read the following statement carefully and identify the conclusion that follows.
Statement: "Government should provide free education to all children up to the age of 14."
Conclusiens:
I. Education is a basic right of every child.
11. A large number of children are deprived of basic education.

=l sy &1 eH @ ug iR Py Hepred |

YA "INER T 14 Td KT g I & Tt st i [ Ran vew F gyt
fesepe:

1. &1 v 9= o1 {1 AR 81

1. I3t G | =3 T fen & dfa g1

Meither conclusion | nor 1l follows

A a1 Freehd | ofiR A 8t 1l S ERu Fdl B

Only conclusion 1l follows

chael e || HAFH0T K31 &

nly cenclusion | follow
| STTERY] Rl

Both conclusions | and Il follow

BT Feht 1 3R 1) SFERUT hed §

QNo: 14 | If+ means -, + means +, - means %, and x means + then,
whatis 35+ 7 -5+ 207

afg +raref -8 + FT A + §, - T a1 = &, o x w1 onf = &, At
35+7-5+20=m?
45

45
40

40
50
50
35

35
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QNo:15  Complete the following series: B, D, G, K, ?

F=fofEa @+l QW &3 B, D, G, K, ?

‘

QNo:16 38, 57, 76, 95, 118 - which is the odd one out?
38,57,76,95 118 -8 @ a1 faumw &7

76

76

118

118

57

57
38

38

Q.No: 17 | In each of the following questions, a pair of words (letter sequences) is given on the left-hand side of the double colon (::), which
follows a certain alphabetical pattern. Identify the logic in the first pair and apply the same logic to the third word to find the correct
corresponding word from the options.

LID:KIC:: CUP:?
Frfeifea ude us &, gig? oie (::) & 912 3R 73T 1 geh gid (18 ohd) fean man 8, it gk [Af9)a aufare & &1 g9 6t 21
g giA | deh oh! Ugar dhifog 3R faered! # 9§ TE 71d 2058 T4 & & oIy I deh & 16X 2168 UR AN ity |
LID:KIC:: CUP:?
SLW

SLW
LOW

LOW
=L

B U}
FLO

FLO

Q.No: 18 Hyundai, Ford, Apple, Toyota = which brand doesn't fit?

Toyota

ggten

Ford

Hig
Hyundai

gt

Q.No: 19 Read the situation and choose the best judgment:
You live in a residential area and notice that your neighbor, who lives a few houses down, frequently leaves their trash bins out for
days after collection, often overflowing and attracting stray animals. This is becoming a recurring nuisance for the neighborhood.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

oafa =t war= & o o gat=m Fofa :

1T g Rerasht goirss # 28d 8 ofiz 3 g 1ok smueht uSte, 9l 5w gt 9 &l 51 UR Tgd1 8, HFER Rl Sohg] i oh dlG ohe 151 deh
SUHAT oIS 18T BIZ &1 ¢, s SR &Rl ¥R Sildl § 3R HTaRT SiHaR 390 311 9ild ¢ | 38 A™-USH & [y U IR-aR g are!
T ST o7 3@t 2l

usr: 39 f@fa |, F=faf@a F @ & ar 9= Afas ok Sierm #en 87

Gather other neighbors and collectively confront the person angrily about their actions.

3= ST &bt Fahgl 3 S dfge U 4 39 e 9§ 39 Fl & 9R # T3 4 919 &)

Secretly take photos of their overflowing bins and send them to the local municipal authority to report a code viclation.

T ¥ d AU 3R 81 3¢ el i aedii of 3 I8 I Feurferenr e &l W diiss dfgdn Ievia= i Ruté &1 =11 gk

roach your neighbor calmly and politely to discuss the issue, explaining the impact it's having on the neighborhood

Tt &Y GRaA § "= & forg, 32 9arg fer, 3 Ghel §U e i T@d A1 el IF aW &1

Q.No: 20  Find the missing term: 4, 9, 19, 39, 7

I U A1d HIfg: 4, 9, 19, 39, ?

QNo: 21 Ifin a certain language, TEAM = 5514 and LARK = 8914, then what is the code for BEAM?
afe et Ffga smar § TEAM = 5514 3R LARK = 8914 &, df BEAM I i a1 g2

53514

0514

3544

3544
3512

3512
3214

3214

Q.No: 22 | A student is struggling with time management for an upcoming entrance exam. What would be the most effective decision to address
this issue?

Ueh ©1E HT W Udie < folg a9y yey= & S[21 381 § | 39 UHE & g & & foig ged gwrdt fufa aar ghm?
Leave preparation to the last week
TR 3 O 9 8is &
Focus only on favourite subjects

thad UHSIRT fawal uR e g e
Study all night and skip sleep

I AT UeTE a1 3R W1 B 2

ake a realistic study timetable and tollow |

a4r ST 97T CRIG 3kl UTeld

Q.No: 23 | In each question below, two pairs of letters are given. The first pair has a specific relationship between its letters. Identify the
relationship and choose the correct option that completes the second pair in the same way.
DC:FA::HE:?

1 ey e udier o H s1erRl <& &t g Ry g &1 ugel g & el & i us fafdre gey &1 99y uganhy ofk a9 9et sy &1 9gH
oIy =it z@R g ot 36 weR ORI e 1
DC:FA::HE:?
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JG

JG
Fl

Fl
GF

GF

Q.No: 24 A car travels 50 km West, then turns around and travels 30 km East. What is the car's final position relative to its starting point?

Teh R 50 TRt ufgm & ofiz Ta<d 8, i ggere 30 foheft ud &t ofik Ieidl &1 TR i o= HRive fg & ame sifts [@fa wn g2

20 forit otz
20 km East
20 foret o
30 km West

30 et ufgm
80 km West

80 feredt ufgm

QNo:25  Seven people =G, H, |, J, K, L, and M - are sitting in a straight line facing North.
H is sitting fourth to the left of K.
J is to the immediate right of I.
Only one person sits between M and G.
lis net an immediate neighbor of H.
Who sits at the extreme left end?

ard iRy - G, H, 1, J, K, L3R M - ITR & & ofi 99 ek ue Hieft Tar 7 3% §)
H, K& 910 § 99 @[ I 3o g1

J, 1 &h &t 214 81

M 3R G & 19 Shad Ueh =iad a7 g1

I, H I Frepean ugEt 981 21

e 90 BR R i 81 8?

‘

QNo:26 Seven people=P,Q, R, 5, T, U, and \ = are sitting in a row facing North.
S is fourth to the left of V.
Only one person sits between T and S.
P is not next to T.
R is not at any extreme end.
U is to the immediate left of V.
Question: Who is sitting exactly in the middle?

AT - P, Q, R, §, T, U, 3RV - Geh Ufery # I=12 <l 3R Hg ik 96 &
5, V& U & 919 ®@H W 8l

1 3R 5 & o9 dae Us =afer 31 81

P, Th a7 § =1gi &1

r fordft oft oifom B ww Agi 81

U, V& &I 914 g1

war: S S i dar 2?

u
u
S
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o2 0

QNo:27  Which group is different from the others?

i T TG 3T I 3IeT 57

Q.No: 28 Read the situation and choose the best judgment:
A student finds the answer key of an upcoming exam by mistake in a professor’s office. What should the student do?

=t =t gust ofit watwm Fofg &:
Ueh BT & ATTTHT UHET ehi FoX il T § Yeh HIthaX & shrdierd # [5e SITdt g1 BT T 41 &het 91eyq?

Keep it to use later

34 918 # JuAT & feig 7

eturn It to the professor without disclosing Its content:

aies* Tl Culhill
Share it with friends
34 Sl & TTYy gr &

Memorize the answers

IR OIE ™

Q.No: 29  Read the information carefully and identify the correct relationship between the persons mentioned in the question.
Ais the father of B.
C is the son of A.
D is the brother of E.
E is the daughter of B.
Question: How is C related to D?

&t 7€ ST @t saEgd s U Mt us # sfeeif@a aafawal & da agt d9y ugar

A, B & fuar 21
C,ARI A Bl
D, E & TS &1
E, B&H T EI
uar: ¢, D ¥ 5o ver g9afda &2

Brother

R IES

Unclel

EIEN

Father

fiar

Cousin

EEL
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Q.No: 30 Read the following statements and conclusions carefully. Decide which of the conclusions logically follow from the statements,
disregarding commonly known facts. Use only the information provided in the statements and apply standard syllogistic logic.
Statements:

All Dogs are Mammals.

All Mammals are Animals.
Some Animals are Pets.
Conclusions:

(1) All Dogs are Animals.

(2) some Mammals are Pets.
(3) some Dogs are Pets.

(4) No Dog is a Pet.

FrfeiEa syt ofR Frewst of eFgEe Ug) Gard 9wt sl TeReers Sid gy, Fuig & o b a1 Fehy el o arfdhe 0 8
HTHRUT el &1 hadl ! H &t 7TE SRR ol IUTNT e HIR A =Aare o] &
HY:

Tt T TWAYR Bl

gl TAUR TR B

S SR Uleld Si-aT g
fPrennd:

(1) aft o= SR B1

(2) & TAYR! Ureg SHaR 81
(3) F® Tt UTeAqg SR 8

(4) i< +ft T UTerE SR T B

All (1), (2), (3), and (4) follow

T (1), (2), (3), 32 (4) IrgEROT X &
only (1), (2), and (3) follow

&ad (1), (2), 3R (3) rgemor &:3d §
Only (1) follows

chaet (1) SFTHRUT Shedl g

only (1) and (2) follow

Fae (1) o (2) argaeor #xd §

Q.No: 31 | A word-and-number arrangement machine rearranges a given input following a specific rule in each step. The rule involves moving
the alphabetically smallest word to the leftmost side and the numerically largest number to the rightmost side in each step. The
process continues until all words are arranged in alphabetical order at the left end, and all numbers in descending order at the right
end.

Based on the pattern, answer the guestions that follow the given input.
Input: Dream 73 Alpha Beta 40 94 20 Code
Question: Which is the correct Step | arrangement?

Uk - 3IT-HEAT SAaeT A1 Wl =¥01 § Uk [Af2 a9 &1 uTe &ed gy fou 71T 399 & Yedaredd &edi ¢ 39 Ham § udes =
# JUiHTET & IR 9o BI¢ U2 ot 9a4 d13 S ok &I &9 § 994 921 Y1 &l 9a4 a2 AR of FH1 A1ihe g1 9g uishar a4
e ORI Tg<! g oid oo feh AT 2Teg 12 7R JuiATe 7 7 ofk Tt T g8 ofi oERial A B adedd - gf oid|

39 T & MR W, iU ¢ $1qe & =18 o 9 weff & 39R &l

e g 73 IET dier 40 94 20 &is

WST: I | i el ST 9 T §?

Ipha Dream Beta Code 94 /3 40 2
9473402
Alpha Beta Dream Code 94 73 40 20

3ok el g1 &iZ 94 73 40 20
Alpha Beta Code Dream 73 94 40 20

3ThT el ohis g 73 94 40 20
Alpha Beta Code Dreamn 94 73 40 20

SATURT ST 18 3 94 73 40 20

QNo:32  What number will be present in place of the question mark?: 5, 11, 23, 47, ?
alaTHe fdvg o I UL &I 9Of 9 e 5, 11, 23, 47, ?

96

96
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QNo:33 |5 a class of 40 students, John is ranked 12 from the top. What is his rank from the bottom?

AoH I TFEFAE AR IR 12" T A 2 R A R I a?

Q.No: 34 A man goes 12 km North, turns East and walks 5 km, turns South and walks 3 km, then turns West and walks 5 km. How far is he
from the starting point?

Qe HTEHT 12 et 3z ol 31iR Sirelt 8, gd ot ok ggane 5 et =retan 8, afaror &t ok geene 3 feft =retan g, fihe ufgyw it aik g@ere 5
fonelt gerar &1 98 R g d et @ 87
17 km

17 et

15 km

15 fenet
12 km

12 fereit

Q.No: 35 Aditi walks 18 m South from her home to reach a grocery store. From there, she turns right and walks 12 m to reach a bakery. She
then takes a left turn and walks 6 m to reach a bookstore. From the bookstore, she walks 24 m Morth to reach a clinic, then turns left
and walks 12 m. In which direction and how far is her home from her final position?

i U TR F 18 Hicr afaron fean & =y Ueh SR <l gt deh Ug=dl 8| 981 9, I8 214 Had! ¢ 3 12 Hiex IeTehe Gah Sehdl deh
Ugdl 81 iR 98 A1¢ 3ol 3 1R 6 Hiex IeTent Geh fehdra] &1 gehl ek Ugddl g1 fehdTal <l geaht 9, g 24 Hier I faan # Ieie U
TereTt-rer ug=t 3, O aTd 3t @ iR 12 #ier =refdll 31 38T TR 90 ifan w4 g fean A ofik frafi gl 82

12 m East

12 iR od
6 m MNorth

6 Miex 3<%

24 m West

24 Hiex ufsH

Q.No: 36 Out of 72 students, boys are twice girls. A girl is ranked 12th from top. If 5 boys are ahead of her, how many girls are after her?

72 BT & |, T3S @il € G &1 goh ash IR 128 ®F W §1 afg 5 73 39 o §, At 39 91 fhat ersfeRat 82

20

20
21

21
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Q.No:37  If TEACHER is written as TEACREH, how is FRIENDS written?

3T TEACHER ! TEACREH for@n SiTar 8, a9t FRIENDS <Rt 2he ferar wimgm?
FRESIND
FRESIND
FIRNEDS

FIRNEDS
FRIESND

FRIESND

QNo:38 If+=% -=4 %=/ [=_ then,
whatis (4+5)*2-3/1?

gfg+ =% -=+ %=/ [=-3,
(4+5)*2-3/1=01&?

11
11
14
14
10
10

Q.No: 39  Read the following statements and conclusions carefully. Assume the statements are absolutely true, even if they contradict
commeonly known facts. Based solely on the statements, determine which of the conclusions logically follows.
Statements:

Some birds are eagles.

All eagles are fierce.

All fierce creatures are predators.
Conclusions:

(1) Some birds are fierce.

(2) some birds are predators.
(3) Al predators are fierce.

(4) No eagle is a predator.

FAr=feifea syt ofk Freamsl 6l ergdas ud| 79 o foh svue quia: 9 8, 9l &1 & 9Mad: A1 92l &l WeH d 811 chdel huH] &
R WR, FafRe % s i a1 fshd arfdes ®u @ 48t 81
U

Fo el e 81

it et daEr gid 81

gt @R siig RER g €1

e

(1) 3o vah Yar &id &

(2) o ush RA=RT 8 81

(3) oot A YErR B 81

(4) =tg oft et FRreprét 71 21

only (1), (3), and (4) follow

&ad (1), (3), 3R (4) Srgemor &ed §
only (1) and (2) follow

et (1) 3R (2) Irgemor ovd §
Only (1) follows

chael (1) SIHR0T hedl g

&l (1), (2), (3), and (4) follow

Tt (1), (2), (3), 8% (4) SrFEROT ed &
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QNo:40  Choose the best sequence:
1. Proposal, 2. Planning, 3. Execution, 4. Completion, 5. Approval

qaaq &0 9.
1. U4dTE, 2. Qia1, 3. hi=gH, 4. GA194, 5. A
51,234

512734
1,523, 4

1,523, 4
1,2:.5.34

1,2,53,4

QNo:4l |If+=% -={( *=1+ [=- then,
whatis (S+2)*3-4/2?

Hﬁ"':*,‘:f,*:"',f:‘ﬁ;
al (5+2)*3-4 /2 AR ATE?

10.67
10.67

‘

QNo:42  Someone is speaking with you, and you strongly disagree with that person.
What is the best socially intelligent reaction?

Thig STTUH &1d @ Y61 ¢ 8fX 310 I8¢ i avg 3rdead gl
gad <l gHTfoie ®U 9 gigAm ufafcean e ginfi?

Interrupt them and argue with force today

AT I8 cich 3 Wi & 989 e

Walk away to avoid the argument now

39 950 4 g9 & foI¢ 981 ° 9ol og

alt and then respond politely with reason
ShIFU Idlshy 37

Stay silent and gossip later about them

U 3§ 3iR a1 # I IR A Ty &Y

Q.No: 43 | In a series of patterns, each shape has one more dot than the previous. The first has 1 dot, the second 2 dots and the third 3 dots.

What comes next?

et 1 U St 8, U gt & frod a1t & ge fig surer 31 vgd | 1 Rig 2, @R d 2 Rig # v iR 4 3 Rig &

39k 91 o1 AT 87

Shape with 3 dots
3 feigait amem amer
Shape with 5 dots

5 feigafl arer s
Shape with 1 dot
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1 feig 9Tl R

Q.No: 44  Class has 70 students. Boys = girls. Suman is 19th from top, 10 girls ahead. How many boys are behind her?

e H 70 B 1 Agd = Afhal| g ST 199 ®IH W g, 10 wIsfaal ot 38 e foha- @i 82

20
20

8]
—

21

Q.No:45  Complete the following series: AB, CE, FH, ?

ffafed sjtaen &1 gFr &9 4B, CE, FH, ?

QNo: 46 | If P says, "Q is the son of my father's only daughter,” how is Q related to P?

SR P hgdl g, " A2 fUdr & Seheitdl gl &l g ¢," | Q =1 P 8§ &1 9y 8?2
Nephews
CRIGI
Cousin

EEL

Son

™
Brother

LIES

Q.No:47 | Complete the following series: SCD, TEF, UGH, . WKL

g oftaan ! g1 &9 SCD, TEF, UGH, __, WKL
T

T
CMMN

CMMN

Ul
(9A]]

Q.No: 48 | A definite Input-Output process is given below. Study the arrangement rules carefully for the given input and fellow them to answer
the questions based on the new input. Input: 40 10 60 20 30
Step I: 10 40 60 20 30
Step 11: 10 20 40 60 30
Step I11: 10 20 30 40 60
Last Step: 10 20 30 40 60
Based on the process shown above, answer the following question for the given input:
New Input: 75 25 8535 15
Question: What is the element at the 3rd position from the left in Step Il of the new input?
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= gah (fga gqe-amgeye ufchan &1 718 g1 i8Q 7Y gYe o g soaer Hodt &1 sogde 1ena e 3R Y Y UT SyTRa Ul &
IR & & eTq I7ehT Ut <1 31UC: 40 10 60 20 30

=07 |: 10 40 60 20 30

=T 11: 10 20 40 60 30

TEOT (11: 10 20 30 40 60

3ifas FTor: 10 20 30 40 60

U g21TS 7S UithaT & YR 0, 13U 1Y 3ye & foiy Frafaf@a uy o &

qa1§Iqe: 7525 853515

O3 Y §YE o =907 || F 914 & 9 M 0 iH 91 9 §?

35
35

85

85
25

25

Q.No:49  Find the missing term in the series: 235, 271, 349, 385, ?, 499
e & o U A1d hifaig: 235, 271, 349, 385, 2, 499
421

421
313

313
411

411
46 4]

46 )

Q.No: 50 | Seven people = A, B, C, D, E, F, and G - are sitting in a row. All are facing naorth. C is sitting to the immediate right of D, who is third
from the left. How many people are sitting to the right of C?

@@ -A, B, C, D, E F,3RG -t d A ds I i TR R iR g d5 g1 C, Dh S ag oiR ol g, S W A dwr g1 c &k arg
IR A e as &2

‘

PART - B (General Awareness)

QNo:51  Where was the 72nd Senior National Volleyball Championship 2024 held?
72+t difae Aty dieitsler Sffg=iag 2024 Sgl smaifed i 1?2

Bangalore, Karnataka
AR, FACH
Bhubaneswar, Odisha
Guwahati, Assam

TETETEN, S

Mumbai, Maharashtra

HeE, HERTY
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Q.No: 52 What is the score of India in Corruption Perception Index published by Transparency International?

IO SeRAIAH gRT U YEIAR YRV Yddhich § HRA 6l ©hIR &1 g7

38
38
150

150
300

300

Q.No: 53 | A heating element of a heater is made of a material with high resistivity and high melting point. Which of the following material
properties is most crucial for its function as a heating element?

ferelt €122 o1 91U 9 3= UfaRieeRdT ofiT 3= TTeiich aret Uerd A =41 ghar & | i | & =14 vared 7o, a9 & &0 § 59
& o fog Had Hgayuf 82
High modulus of elasticity

Fed UATRIdT AUih
igh thermal conductivity]

e U1 llehd]l

Low specific heat capacity

=y fafdre sear arfiar
High resistivity

I Hig=IeeRan

QNo: 54  Which of the following Biosphere Reserves is correctly matched with its state?

FrefeifEd § 9 oF 91 IEhR Bod 30+ 390 § 9t &7 9 8 "1 82

Seshachalam Hills — Andhra Pradesh

ugeH Ugliaar - g Wesr

Pachmarhi = Gujarat

TaHd! - e
Dibru-Saikhowa = Manipur
feg-dtan - aftR

QNo:55  Which state has the lowest population in India?

R & 999 hH SH9e &g g Fi 8?7
Manipur

Aforg

Arunachal Pradesh

STV s
KK

IiE=a

Mizoram

IS

Q.No: 56 According to Census 2011 which Indian State/UT has no Scheduled Tribe?
2011 & SO & AR e wRdtg T /4y e 8 § i e st T8 22

Kerala

et
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Goa

Chhattisgarh

TS

Q.No:57  Which of the following statements are correct about the PM MITRA Scheme?
1. It aims to establish integrated large-scale textile parks.
2. Itis implemented by the Ministry of Textiles.
3. The scheme promotes synergy among textile value chain segments.

o s gtern & aR & e 8 € 9 § sy agr 82

1. 39T Fe20 92 THTH R Udhlehd HueT Uldh T1Ud &1 g1

2. 91 SAGa HUST AATd gRI fohdl 91T &1

3. U TS SUST Ho @ Wel & d19 dieid & ag1ar &t gl

only 1 and 3 are correct

thae 1 AR 3T E

only 2 and 3 are correct

Hhad 2 AR 3Td g

II'1, 2 and 3 are correc

1,233
only 1 and 2 are correct

el 1 AR 2TEE

Q.No: 58 Which type of placentation is characterized by the ovules developing on the inner wall of the ovary or on peripheral part, as seen in
mustard and argemane?

fora U & W & [Riwar sizim & anaRe dar ar ufedia vm w Aafaa g aret Siaist & gidt &, o o awat ofw arita=
7 @1 T 87

Parietal

g

Free central

] 4
7

-1

72 o]
Axile

il

QNo: 59  Read the following statements carefully and choose the correct option:
Assertion (A): The Santhal festival of Erok Sim marks the end of the agricultural season.
Reason (R): The Magh Sim festival expresses gratitude for the harvest and prepares for a new cycle.

FrafafEa syt &t s ug ofir Ot e 4
YA (A): YU AIgR Gieh W 6f¥ g & alg 1 Udlh 21
&ROT (R): A9 &8 18R hdel & Ui fdwidl 2 &dl & 3T Yok Y Ieh il 9T &hedl gl

A s incorrect, but R is correct.

AT B, difehT R T 21

oth A and R are correct, and R correctly explains A

R AT R, A ST shadl
Both A and R are correct, but R does not explain A.

A 3R R 14T Tl g, oifeh R, A =h1 =TRET 8! a1 g1

A is correct, but R is incorrect.

AR B, A R e B
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Q.No: 60 | A forest ecosystem experiences a prolonged drought. Which trophic level would likely experience the most immediate and severe
impact on its biomass?

Uk g1 TR &7 oid T doh Y& ol 74 el g1 [hd Uyl TR U 39 JaH9R U 999 dehlel 3R 4R w19 usH 6l drEan
2?

econdary consume

Tertiary consumers

eltaes gusterrat

Primary consumers

e IustieT

Producers

et

Q.No: 61 Which of the following statements correctly differentiates Alluvial soils from Red and Yellow soils?
Ffafed § @ &9 a1 sye Seie gl &t i offe dielt g & adl & 4 e sear g7

Alluvial: from rocks; Red/Y¥ellow: river-transported

Telte: Tl &; orer/die: 7€ gy uiagta

Alluvial: older types most fertile; Red/Yellow: colored by iron

elle: QR ek Had IO, wlel /e wig & 1 gan
Alluvial: sandy loam to clay; Red/Yellow: sandy loam, less fertile uplands

TAeliG: Yol aiAe o [T g a/diarn: e giFe, 9 J0eTs Sud 9E

lluvial: rich in phosphorus and humus,; Red/Yellow: rich in potashalluvial: rich in phosphorus and humus; Red/Yellow: rich in potas

BT WRE, o1 /AT 3 B YRR, o1/

Q.No: 62 Which Mughal emperor is known for his extensive autobiography, Tuzuk-i-Jahangiri?

gg HITcl HHIC ohiv Y7 Fordehl AT 'Juleh-G-aignii’ & 0 d ufdg 2
ahangin

—

ERMIN
Akbar

Jhal

Shah Jahan
ATESTRT
Aurangzeb

HTE

Q.No: 63 Barindra Kumar Ghosh, Abhinash Bhattacharya and Bhupendranath Dutta were associated with which movement in March 19067

At 1906 F afeg FoR g, AR WEEr o JisATY o fohe arfeta 9 92 47

Swadeshi movement

weaft aneie

Anti Bangal partition movement]

Quit India movement

W Big! Afger

Movement against Bengal educational reforms

STl iférer GurRl & fREeh siidterT

Q.No: 64 What is the aim of Ayushman Bharat scheme?

HRISAT HTed FIaT1 21 I 1 87

Clean drinking water for all

Toft & forg w=s taea
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ealth insurance for the poo
ey

Free education to children

el & 3o f2am

Housing for the poor

TR o ol armem

Q.No: 65 A factory purchases machinery worth 50 lakh. At the end of the year, depreciation is ¥5 lakh. What is the Net Investment made by
the firm?

Ueh Thagl 750 ARG Heg hl |l @diadt g1 & & ofd # geugd €5 9 81 hH g1 e mran g Frder feham 82
745 lakh

45 9
55 |akh

755 o]
75 lakh

5@
750 lakh

50 or’g

Q.No: 66  Consider the following statements and choose correct option:
Statement 1: Kriti is a highly structured musical composition in Carnatic tradition.
Statement 2: Tillana often concludes a Carnatic recital and emphasizes rhythmic syllables,

FreafafEs sy o far Sy ofr ad e gih:
HYA 1: Fid Hles WorT § g 3= Wfa i =1 21
FYA 2: T TR Fifes T T TAU ] 2 SR Taas 318l = ok &t 21

Both 1 and 2 are correct

1 o 2 Sf wet &

only 1

chad 1
only 2

hae 2

Neither 1 nor 2 is correct
Adr1iRIg2Tad g

Q.No: 67 Match the port/corridor with its strategic benefit to India

Column A
Column B (Strategic Benefit to India)
(Port/Corridor)
A. Chabahar Port 1. Links India with Europe via Middle East
2. New age of transportation between the twa countries India to Southeast Asia via Mizoram=Myanmar
B IMEC

link

C. Sittwe Port 3.Access to Central Asia bypassing Pakistan
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Fr=fafas seomel/nieawt (T A) = e 398 wre & B wrifaes v (W 8) & i

| =9 A (deomg [ nfeamn) | w9 B (WA & g Wi )

A. ITNER SeOTE 1. YR &1 7o U4 & ATOH & g0 9 SiSdT g
B. anguAsHt 2. IR ¥ fE-gd gitmn 9 AeiRA-=1aR Sudh & Aread | uiage ol =331 g
c. fra dewme 3. IR &l AU SRas " QiR a9 ugd

A-3,B-1C-2

A-3B—-1C-2

A-2B-3C-1

A-2,B-3C-1

A-3B-2C-1

A-3,B-2C-1

A-1,B-2C-3
A-1,B—+2C~+3

Q.No: 68  What is the primary reason for the asymmetrical distribution of continents and oceans across the Earth's surface?

ged] & T8 U HgTg Tl ofR ASTHIRT & fauH faavor 1 urufds wRor a1 g7

eafloor spreading and plate tectonics

&l
Earth's elliptical orbit

qeal & ATSTHR HaT
Magnetic anomalies in the core
TR # gaehrg fognfaar
Variations in solar radiation

iR Ao & =g

Q.No: 69  Which solar phenomenon is responsible for disturbances in Earth's magnetic field?

et & <jaehi £ & Teadl & g i € T ar 37

Sunspots

o & e
Solar flares
R Sgremd

hromosphere heatin

Photospheric cooling

TS affae=

Q.No: 70 | In the Climate Change Performance Index 2025, why did India retain a top-10 spot unlike several developed economies?

SieTaryg URad= ueei- gadhich 2025 H HRd e [AahiEd svfenawinail & faudia 2ftd 10 = w i =1 2812

igh renewable energy share and low per capita emission

HH

Lack of net-zero policy
-3 A & vE
Aggressive fossil fuel expansion

3TehTH SiaTsH 2o+ o

High energy consumption per capita

ufa =afes 3=9 3wl @ud
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Q.No: 71 | Which of the following guantities remains conserved when an object moves under the gravitational pull of another object?

el o g% fonst o 9% & RaTenu Ul fE=Td & Sfarid deidt ¢ dl Fefalf@d & § et 4 i d@xiaa Bt 82
Only linear momentum

EEEECERIGH

Potential energy and linear momentu

o] Hull 2R $E(g 9a7]]

Kinetic energy and linear momentum

TSt ol AR @ e

Angular momentum and mechanical energy

SHIvitg FeT HR gifsieh Foll

Q.No: 72 Which policy reform targeted improving competitiveness and efficiency of the banking system after 19917
1991 & 915 forg Hifa gur &1 weg dfh woreht 6 ofamaufaresar ofik gaman § guR e 9

ntroduction of prudential norms and CRA
: R 5l

Limiting foreign entry into retail banking

e dfdhn F fAEaft v =t WA we

Full derequlation of credit markets

0T ATSR] i ot faf e

MNationalization of cooperative banks

gl ofehl ohl BRI

Q.No: 73 The regulatory framework adopted by India between 1947 and 1990, often referred to as the "License Raj,"” aimed to direct economic
activity. While it had certain intended benefits, what was a significant unintended negative consequence often associated with this
system?

1947 2k 1990 & fg vRa g1 AvATg T A ars o &t o "oy " & w0 § geffa fohar omar g, S 38w anfifs
nfafafe &t &R AT a1 gl 39 o 3ftod o ¥, wifthd 59 Junell § 31eR ST Ueh AgayUl MUTad AehRIcHe: URume el
1?7

A rapid increase in the quality and global competitiveness of Indian-made goods due to stringent quality control measures.

e TUTaAT (AdAUT SuTEl & wReT AR M aegaert 6t quiasr of affe afayteesar # asi & giE)

The fostering of a highly competitive market environment with numerous players in each industry.

U I H ek fEadriadt & 91y i Uioegell STeiR ardieul i gerEl &7l

he creation of barriers to entry for new businesses potentially stifling innovation and leading to inefficiencies.

21 H 14910 304 HarER | 918 304 TUT R
A significant reduction in corruption and bureaucratic delays in obtaining necessary approvals for economic activities.

anfife nfafafdat & fog s argries o 3 & werEmR ok tezand & | SeeaHtg &t

Q.No: 74 Odissi classical dance originated in which Indian state?

HifsdT amelta T WRd & g Iy § 34 ganm?
Gujarat

Odisha

EiER
Bihar
IERIES
Assam
HEHH
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Q.No: 75 ' As per the Bharatiya Nagarik Suraksha Sanhita, 2023, which of the following best defines "electronic communication"?

W AT GR&T igaT, 2023 & guR, FrAf@d # § &F "soiagHe 9aRr" & gad sl avg uRHItd ar g7

Any information transmitted using electronic devices like phones or computers

TR A1 ZhTEX WiE §oiagi-ah JUheUll el JUANT ehieh UTHA hig f ST

nly video calls conducted through secure government network:
HIEH

Telephonic conversations recorded manually

A=g3ret ®9 8 Repld &l 78 eeftwifFes araia

Verbal messages sent through written documents only

Hifeh HeaT dhae [oed axdTdall o ATe0H & 9ot ol &

Q.No: 76 Which of the following best reflects the constitutional dilemma in implementing the Uniform Civil Code (UCC) in India, as discussed in
debates surrounding Article 44 and Article 257

FrefafEa 7 8 & &1 sy 9Ra # F9H AFRe: |@igdn (ZHE) 3t ar] et J daurie gfawn o qad o=l avg 9 aufar g, w9 &
AT 44 7R =T 25 & Uy hT 959 § F4f &1 7L 87

UCC allows gender-based personal law systems to remain untouched under Article 14
T = 14 & dgd [Ri-3muTiRa SafeiTd A UuTierd! sl 37gdT 364 ! AHd &1 8
UCC enforces cooperative federalism by giving states legislative powers on personal law
Tt ot &t o @t o Rt afdat dee Tgart Haare ot I ST B

UCC operationalises the secular ethos by completely eliminating all religious laws

T Taft anfifa el & T dg § 90T T yHARde AR & fehafad wear g

Q.No:77  The system of federalism in India divides power between:

R ¥ O9dlc &l o ohg TR &l erfe-ferires momet ue amenfia 22

Lok Sabha and Rajya Sabha
TR 3R I e

President and Governors

TEufy ot IeguTe

Executive and Judiciary

I UTereRT 3T =grauTferaRt

Q.No:78  Identify the correct interpretation of Gross National Product (GNP).
Tehel T Fears (Sfrgedt) Y Al eren i ugaH e

Income of foreigners in India

wed | fagfawt 6 ema

Income earmed by Indians at heme and abroad

WRATd! ZRT 321 ofi e # arfSfa ama

ncome earned by Indians only within Indi
FEU K IEG)

Income earmned by residents and non-residents within India

wd & Farfadt ok Tr-Fafaat grr arfelq ama

Q.No: 79 The Preamble to the Indian Constitution declares India to be a Sovereign, Socialist, Secular, Democratic Republic. Which of these
terms were added to the Preamble by the 42™ constitutional Amendment Act, 19767

YR HAT 6 AT YR Y Ue WY, FATSETE, afRae, dediiie TR wifta wwat 21 427 dfr et st
1976 g1 w&draqn 8 5785 & &9 g 9r=g 1 u?
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Sovereign, Democratic
Uy, dlhdifAs
Republic, Democratic
Justice, Liberty

T, WAl

Q.No: 80 Which of the following best explains the reason to held Qandhar strategically important for the Mughals?

Fefofea & @ 35 a1 o= gl & o0 $uR &1 WHifas 0 @ Agayqut A+ o 999 3781 GRU 9974 87

It provided direct naval access to the Red Sea for Mughal expeditions.
T T AT & g @ IR ek deft @ uge e

It served as a religious pilgrimage center linking India with Central Asian Sufi shrines.

g HRd & A UiATS gl dreferdl I witgs aret ariie didwed & w0 A o & i)

It was a crucial trade hub connecting the Arabian Sea with the Persian Gulf.

g A3 YR &l hRY ! WIst ¥ Silg dTell Yeh Heyul TR g 911

T controlled key land routes between Kabul and Herat and acted as a fortiied miitary outpost

RG] EEG T AT dT Ueh 926 =q T o

Q.No: 81 Statutory grants to states by the Union government, under Article 275 of the Constitution, are primarily recommended by which
body?

dfaur & arg=e 275 & Aarid F TRER g1 IA7] ot Gy o ard S e & s gea: fha e gr 6 ot 82
National Development Council

et e uftug

Finance Commission

a1 amgtT

Ministry of Finance

[EERIES

T Ravon

GG RS

Q.No: 82 Which of the following authors did NOT receive the Mobel Prize in Literature?

FfeifEa A 3 fong oae &t aifgd 7 A9 qRER g1 ffar?

Orhan Pamuk

HRGH UHE

Haruki Murakami

BTEeh! G

Alice Munro

ofera gt

Kazuo Ishiguro

It AR

Neamwwerd

Q.No: 83  Which dynasty was founded by Dantidurga in the mid-8th century?

HTedT Adredl & qe # af<grl gR1 fhd Aot &l wmuAT 6T o7
Rashtrakuta Dynasty
TEFE
Chola Dynasty
CIGEL
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Pala Dynasty

T 41

EIGRIER]

Q.No: 84  Who will fly to 155 under Axiom-4 mission in June 20257
S 2025 # gierysiiA-4 fim & dgd snsuaed & oy &iF 3819 wm?
Gagandeep Singh
e g
Sunita Williams

e fafer

Prasanth Mair

2T AT

Q.No: 85 In the context of India's trade policies between 1947 and 1990, what was a common characteristic of the approach towards imports?
1947 3R 1990 & &= W 1 earuR Afal & g d, smora & ufa gfeeion 61 ges g fasiear =r oft?

Promoting imports as a way to boost domestic competition.

T ufeuef &t agrer &7 & g amara &t ggrmen &

Primarily focusing on the import of luxury goods and consumer durables.

T & T TS &t axgaft o Iuwie fEans awgal & 31maTd UR & shigd fohar srgem)

ollowing a strategy of import substitution to protect domestic industries

HIETT AT SUATAT
Encouraging unrestricted import of all goods.

gl aegail & ufddda smard &l Wiaifgd &

Q.No: 86 According to the classification of modern Indian languages, which linguistic family accounts for the largest share of the Indian
population?

ATy VR A3t & Fifrun & AgER, fhd JTuTE uRaR &1 ¥R s § 999 J21 g &2
Sino-Tibetan (Kirata)

ar-ferearelt (femra)

Austric (Nishada)

Hifeard (AaT)

Indo-European (Aryan)

33-gRIfoaA (=)

QNo: 87  Which of the following pairs is incorrectly matched?
fF=fofea & o5 o1 gm e gafea 82

Swadesh Darshan = Ministry of Culture

W g3 - Tl HAA

PM MITRA = Ministry of Textiles

Beti Bachao Beti Padhao = Ministry of Women & Child Dev.
TET FaTalt SE ugraf - Higer Ud a1 (e oA |

P JANMAN = Ministry of Tribal Affairy
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Q.No: 88 What is the primary mission behind India’s invelvement in the International North-South Transport Corridor (INSTC)?

i IT-afEm ufag= nferar (enSyauadit) & v &1 urfierd & e orufis M g2

o promofe clean marifime securit
AT ohl Sgrdl

To bypass China's CPEC route via Taiwan

AEaH & T = & HidiEdt anf =t smug A

To improve connectivity with Eurasia via multimodal routes

Tt iHISe AT & A1e0H § R0 & 91y dudh § R &

To facilitate transit trade through the Arctic

3Teh{Ceh o ATHH ¥ URTHA ATUR o iUl a-+ & g

Q.No: 89 Who among the following was the Chairman of the Drafting Committee of the Constituent Assembly?

FfifEa d 9 1 99y I91 & uey 9t & oreger 47
Sardar Vallabhbhai Patel

TER ToeTy IS Ued

=1, 5 R, 35

Dr. Rajendra Prasad

=1, Toig Erg
Jawaharlal Nehru

FATETe A5

Q.No: 90 Which part of the Indian Constitution is known as the “Magna Carta of India" and guarantees fundamental rights to the citizens?
WA T &1 &hiF T 91T " 9IRd &1 531 Hel” & © 0 5 5741 901 § 3R AR ot Hifois e & TReé $a1 872
Part |

AT |
Part 1l

HIT ||
Part Il

HI (11

QNo:91  Which Indian sporting award is given for outstanding performance in sports coaching?

@l i H I Ue & forg et |1 YRR @l RERR e wirar 87

ajor Dhyan Chand Khel Ratna Awar
Hdg T

Dronacharya Award

S0 QR

Rashtriya Khel Protsahan Puruskar

TE @ UeTg R

Arjuna Award

T[T JRRR

Q.No: 92 Once the Time Magazine had mocked Gandhiji's physical size but to whom do it compare his martyrdom later on?
Ueh IR TgH A7 A iefit ht ariRes A1SeT 1 Ak ST U1 Wik 91 | S-1chl gTad Sl ol fhed &hi m187?

Albert Einstein

e TS

Martin Luther

AT e
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George Orwell
St JHieae
iAbraham Lincolr

Q.No:93  Consider the below statements:
1. Governor is state's constitutional head.
2. He acts solely on Council's advice.
Which of teh above statements holds true regarding Governor's executive powers?

g &g me Syt oY AR fifee:
1. IAUTA Y I HATF TG g1 g1
2. ag yoia: ufiug &t ag U & &edl g
TSHUTA h1 SRR faaat & 9y # IuRied A € & 97 U9 9 87

Both 1 and 2

1 afR 2 gt

only 1

chad]

only 2

hae 2

Meither 1 nor 2

Tar1 afRTE2

Q.No:94  How many players from one team are allowed on the basketball court during play?

Qe & IR U &7 & foha et &l adheslal 1 W @ &1 3rAfa 87

‘

Q.No: 95  What is Karst topography primarily associated with?

T WA Jera: hod gefdd g?

roundwater action in limestone or dolomite region

T a1 W

River meandering in alluvial plains

et At # Sgt

Glacial deposition in polar regions

e & 7 Rywrrg o

Wind erosion in arid deserts

5 T F arg e

Q.No: 96 Consider the following statements regarding provincial architecture in medieval India and choose the correct option:
1.Bengal and Jaunpur developed distinct architectural styles separate from the Delhi Sultanate.
2.Regional styles often blended Islamic structures with local artistic traditions.
3.Provincial styles remained completely uniform across all regions of India.

ThIeiE WA § Widig aredee & day 7 Fefof@a syt «® fiar fifeg o agdt e ghe
1. =TTeT 3R SR A feeddt Soaa § arer [AfAE @ St fFewiaa &

2. &t fferat § SR SEAH! ST ol S shellcien UURISAT & A1y AT gtar

3. midta et WRd & gt 851 J Gt av Uek THF @1

only 1
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1 and 2 Only

thad 1 #HR 2
2 and 3 Only

hae 2 3R 3

All 1, 2, and 3 are correct
Tofi1, 2R3 Td g

Q.No: 97 Which analytical inference best explains why Prof. Govindarajan Padmanabhan received the Vigyan Ratna award in Biological
Sciences?

I A1 fasAwuTaTes A e aredt avg @ Faran g o Tither Mfdere gamrE & iaes famm § Rem w1 geer a1t fie?

For isolating SARS-CoV-2 protein markers

SARS-CoV-2 HIEIH HTehel ! el il o fig

For discovering DNA replication enzymes

Sy wfr G Bt whor 3 g

or elucidating malaria parasite metabolism and boosting biotech start-u

TYIATY ohl TE -3 chi dgldl
For promoting chemical synthesis in pharma

Tt # T deduur of Serat & & fog

Q.No: 98 | Consider the following statements:
1. The Aditya-L1 mission was launched to replace the INSAT series of weather satellites.
2. Aditya-L1 successfully entered a Halo Orbit around the Lagrange Point 1 (L1) to observe solar activity.
Which of the statements given above is/are correct?

FrafefEa syl ) fER &
1. anfecg-ger 1 e &t Hiom Iuue! 1 e 2jadl &l e+ o g @l-g faar mar ur
2. anfee-uer 1 7 ¥k nfafafy o Frteror ot & forg ol urse 1 (T 1) & 9 ofit Uk gelt Siffac § Aheldyac waer fhar)

FRRTUEHEEI G S a@ g/ &7

2 only

2 shaw

1 31z 2 &

Neither 1 nor 2

qdr1,982

1 only

1 Shad

Q.No: 99 ' In 2025, ISRO announced the construction of the "Bharatiya Antariksh Station" project. What is the first module scheduled to be
tested under this initiative?

SO A 2025 7§ "Ry efaftel R uREieEr & AmTor Y 960 1 &1 39 g & dgd e & forg FreiRe ugen ofsgw A A @2

ogenic Fuel Storage Hu
TSRO

Robotic Refueling Unit

Faitfees S | arelt g1g

Autonomous Al-operated lab

O Al-HaTferd TETane
Orbital Habitation Module

el aTd Aisd

Q.No: 100  Which of the following is a key responsibility of IRDAI?
IRDAI (T a1 Famme ofiR e ufdeur) & waa fosieral & & o a1 87

Protecting the interests of insurance policyholders
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ST 4ehl < fgdl ol 811 et

Regulating the stock market

2R SR & FEfET S

anaging disinvestment in public sector enterprises

S SURHEL & (-3 Hee]

Promoting foreign trade

faeft sauR =t wgmE &

PART - C (English Language and Comprehension)

Q.No: 101 Select the correct passive form of the given sentence.
"She is cooking dinner."

Dinner has been cooked by her.

inner is being cooked by her,

Dinner was cocked by her.

Dinner is cooked by her.

Q.No: 102 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
Theme: The Dandi March
Sector: Indian History / Freedom Movement
In 1930, Mahatma Gandhi started a peaceful protest called the Dandi March. He and his followers walked 240 kilometers from
Sabarmati Ashram to Dandi, a village near the sea. The purpose of the march was to protest the British law that taxed salt. Salt is a
basic need for everyone, and Gandhi believed it was unfair to make people pay for it. During the march, more and more people joined
him. The British government tried to stop the movement, but Gandhi remained calm and peaceful. He made salt from the sea at
Dandi, breaking the law in a non-violent way. The Dandi March became a strong symbol of India’s fight for freedom. It showed the
world that peaceful protest could be powerful. Even today, it is remembered as a brave step in India's struggle for independence.

wWho led the Dandi March?
Subhas Chandra Bose
Jawaharlal Nehru

Bhagat Singh
Mahatma Gandht

Q.No: 103 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Theme: The Dandi March
Sector: Indian History / Freedom Movement
In 1930, Mahatma Gandhi started a peaceful protest called the Dandi March. He and his followers walked 240 kilometers from
Sabarmati Ashram to Dandi, a village near the sea. The purpose of the march was to protest the British law that taxed salt. Salt is a
basic need for everyone, and Gandhi believed it was unfair to make people pay for it. During the march, more and more people joined
him. The British government tried to stop the movement, but Gandhi remained calm and peaceful. He made salt from the sea at
Dandi, breaking the law in a non-violent way. The Dandi March became a strong symbol of India’s fight for freedom. It showed the
world that peaceful protest could be powerful. Even today, it is remembered as a brave step in India's struggle for independence.

Why was the march started?

To support education

0 protest salt tax

To celebrate independence

To fight a war
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Q.No: 104 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Theme: The Dandi March
Sector: Indian History / Freedom Movement
In 1930, Mahatma Gandhi started a peaceful protest called the Dandi March. He and his followers walked 240 kilometers from
Sabarmati Ashram to Dandi, a village near the sea. The purpose of the march was to protest the British law that taxed salt. Salt is a
basic need for everyone, and Gandhi believed it was unfair to make people pay for it. During the march, more and more people joined
him. The British government tried to stop the movement, but Gandhi remained calm and peaceful. He made salt from the sea at
Dandi, breaking the law in a non-violent way. The Dandi March became a strong symbol of India’s fight for freedom. It showed the
world that peaceful protest could be powerful. Even today, it is remembered as a brave step in India's struggle for independence.

How did Gandhi break the law?
By fighting soldiers
By leaving the country

making salt from the se

By closing schools

Q.No: 105 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Theme: The Dandi March
sector: Indian History / Freedom Movement
In 1930, Mahatma Gandhi started a peaceful protest called the Dandi March. He and his followers walked 240 kilometers from
Sabarmati Ashram to Dandi, a village near the sea. The purpose of the march was to protest the British law that taxed salt. Salt is a
basic need for everyone, and Gandhi believed it was unfair to make people pay for it. During the march, more and more people joined
him. The British government tried to stop the movement, but Gandhi remained calm and peaceful. He made salt from the sea at
Dandi, breaking the law in a non-violent way. The Dandi March became a strong symbol of India’s fight for freedom. It showed the
world that peaceful protest could be powerful. Even today, it is remembered as a brave step in India's struggle for independence.

What was the distance covered in the march?
100 km
500 km

D40 k)

50 km

Q.No: 106 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Theme: The Dandi March
Sector: Indian History / Freedom Movement
In 1930, Mahatma Gandhi started a peaceful protest called the Dandi March. He and his followers walked 240 kilometers from
Sabarmati Ashram to Dandi, a village near the sea. The purpose of the march was to protest the British law that taxed salt. Salt is a
basic need for everyone, and Gandhi believed it was unfair to make people pay for it. During the march, more and more people joined
him. The British government tried to stop the movement, but Gandhi remained calm and peaceful. He made salt from the sea at
Dandi, breaking the law in a non-violent way. The Dandi March became a strong symbol of India’s fight for freedom. It showed the
world that peaceful protest could be powerful. Even today, it is remembered as a brave step in India’s struggle for independence.

What does the Dandi March symbolize today?

eaceful protest and coura

Use of violence in freedom

Marching for exercise

Tax collection by British
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Q.No: 107 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
As algorithms increasingly curate our digital experiences—what we read, watch, buy, or even whom we date—they guietly shape our
perception of the world. This phenomenon, known as "algorithmic living," promises efficiency but risks eroding autonomy. When
choices are filtered through predictive systems, personal agency may weaken, and individuals might mistake convenience for control.
Moreover, algorithmic personalization often traps users in feedback loops, reinforcing existing preferences and limiting exposure to
diverse perspectives. Over time, this can lead fo cognitive narrowing, where users become less open to alternative views or new
ideas. While algorithms are not inherently harmful, their unchecked influence raises ethical concerns about manipulation and passive
consumption. True digital well-being demands critical awareness—not of the machine, but of how we engage with it. In a world
increasingly optimized for us, the question is not what the algorithm shows, but whether we are still choosing to look beyond it.

What is the main concern of “algorithmic living”?
Faster online shopping

Decline in physical activity

oss of autonomy due to filtered choice

Increased cost of internet

Q.No: 108 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
As algorithms increasingly curate our digital experiences—what we read, watch, buy, or even whom we date—they quietly shape our
perception of the world. This phenomenon, known as "algorithmic living," promises efficiency but risks eroding autonomy. When
choices are filtered through predictive systems, personal agency may weaken, and individuals might mistake convenience for control.
Moreover, algorithmic personalization often traps users in feedback loops, reinforcing existing preferences and limiting exposure to
diverse perspectives. Over time, this can lead to cognitive narrowing, where users become less open to alternative views or new
ideas. While algorithms are not inherently harmful, their unchecked influence raises ethical concerns about manipulation and passive
consumption. True digital well-being demands critical awareness—not of the machine, but of how we engage with it. In a world
increasingly optimized for us, the question is not what the algorithm shows, but whether we are still choosing to look beyond it.

What does the term “feedback loop” imply in the passage?

Randomized search results

epeated exposure to similar conten

Feedback from social media users

Technological malfunctions

Q.No: 109 Read the following passage carefully and answer the gquestions that follow by selecting the most appropriate option from the given
alternatives.
As algorithms increasingly curate our digital experiences—what we read, watch, buy, or even whom we date—they guietly shape our
perception of the world. This phenomenon, known as "algorithmic living," promises efficiency but risks eroding autonomy. When
choices are filtered through predictive systems, personal agency may weaken, and individuals might mistake convenience for control.
Moreover, algorithmic personalization often traps users in feedback loops, reinforcing existing preferences and limiting exposure to
diverse perspectives. Over time, this can lead fo cognitive narrowing, where users become less open to alternative views or new
ideas. While algorithms are not inherently harmful, their unchecked influence raises ethical concerns about manipulation and passive
consumption. True digital well-being demands critical awareness—not of the machine, but of how we engage with it. In a world
increasingly optimized for us, the question is not what the algorithm shows, but whether we are still choosing to look beyond it.

How does algorithmic living affect thinking over time?
It enhances creative thinking

It encourages scientific research

t narrows perspective and reduces opennes:

It develops emotional intelligence
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Q.No: 110 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
As algorithms increasingly curate our digital experiences—what we read, watch, buy, or even whom we date—they guietly shape our
perception of the world. This phenomenon, known as "algorithmic living," promises efficiency but risks eroding autonomy. When
choices are filtered through predictive systems, personal agency may weaken, and individuals might mistake convenience for control.
Moreover, algorithmic personalization often traps users in feedback loops, reinforcing existing preferences and limiting exposure to
diverse perspectives. Over time, this can lead fo cognitive narrowing, where users become less open to alternative views or new
ideas. While algorithms are not inherently harmful, their unchecked influence raises ethical concerns about manipulation and passive
consumption. True digital well-being demands critical awareness—not of the machine, but of how we engage with it. In a world
increasingly optimized for us, the question is not what the algorithm shows, but whether we are still choosing to look beyond it.

What is suggested as a way to maintain digital well-being?
Ignore all online content

Follow only algorithmic suggestions

ractice critical engagemen

Increase screen time

Q.No: 111 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
As algorithms increasingly curate our digital experiences—what we read, watch, buy, or even whom we date—they quietly shape our
perception of the world. This phenomenon, known as "algorithmic living," promises efficiency but risks eroding autonomy. When
choices are filtered through predictive systems, personal agency may weaken, and individuals might mistake convenience for control.
Moreover, algorithmic personalization often traps users in feedback loops, reinforcing existing preferences and limiting exposure to
diverse perspectives. Over time, this can lead to cognitive narrowing, where users become less open to alternative views or new
ideas. While algorithms are not inherently harmful, their unchecked influence raises ethical concerns about manipulation and passive
consumption. True digital well-being demands critical awareness—not of the machine, but of how we engage with it. In a world
increasingly optimized for us, the question is not what the algarithm shows, but whether we are still choosing to look beyond it.

What is the tone of the passage?
Casual and humorous
Cautious and reflective

Dismissive and skeptical

timistic and enthusiasti

Q.No: 112 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For high school students, the final years before graduation are often filled with pressure from all directions. While teachers and
parents focus on marks and entrance exams, many students also face pressure from friends to fit in or appear “cool.” This creates a
censtant struggle between staying focused on studies and maintaining social (1) The fear of missing out on group activities

or being judged can distract even the most serious learners. Over time, this pressure builds up and may lead to (2) stress.
Some students feel torn between expectations and personal goals, unsure of what truly matters. Experts say the key is to set clear
priorities and learn to say (3) when needed. Building confidence and developing time-management skills can help students
find balance. In the end, choosing self-growth over temporary approval brings long-term (4) True friends will never ask you
to (5) your dreams just to fit in.
(1)

skills

med| 3

image
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Q.No: 113 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For high school students, the final years before graduation are often filled with pressure from all directions. While teachers and
parents focus on marks and entrance exams, many students also face pressure from friends to fit in or appear “cool.” This creates a

constant struggle between staying focused on studies and maintaining social (1) The fear of missing out on group activities
or being judged can distract even the most serious learners. Over time, this pressure builds up and may lead to (2) stress.
Some students feel torn between expectations and personal goals, unsure of what truly matters. Experts say the key is to set clear
priorities and learn to say (3) when needed. Building confidence and developing time-management skills can help students
find balance. In the end, choosing self-growth over temporary approval brings long-term (4) True friends will never ask you
to (5) your dreams just to fit in.
(2)

mild

academic

emotional

Q.No: 114 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For high school students, the final years before graduation are often filled with pressure from all directions. While teachers and
parents focus on marks and entrance exams, many students also face pressure from friends to fit in or appear “cool.” This creates a

constant struggle between staying focused on studies and maintaining social (1) The fear of missing out on group activities
or being judged can distract even the most serious learners. Qver time, this pressure builds up and may lead to (2) stress.
Some students feel torn between expectations and personal goals, unsure of what truly matters. Experts say the key is to set clear
priorities and learn to say (3) when needed. Building confidence and developing time-management skills can help students
find balance. In the end, choosing self-growth over temporary approval brings long-term (4) True friends will never ask you
to(5)___ yourdreams just to fit in.
(3)

later

S0rTy

yes

Q.No: 115 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For high school students, the final years before graduation are often filled with pressure from all directions. While teachers and
parents focus on marks and entrance exams, many students also face pressure from friends to fit in or appear “cool.” This creates a

constant struggle between staying focused on studies and maintaining social (1) The fear of missing out on group activities
or being judged can distract even the most serious learners. Over time, this pressure builds up and may lead to (2) stress.
Some students feel torn between expectations and personal goals, unsure of what truly matters. Experts say the key is to set clear
priorities and learn to say (3) when needed. Building confidence and developing time-management skills can help students
find balance. In the end, choosing self-growth over temporary approval brings long-term (4) True friends will never ask you
to (5) your dreams just to fit in.
(4)

struggle

respect

benefit
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Q.No: 116 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For high school students, the final years before graduation are often filled with pressure from all directions. While teachers and
parents focus on marks and entrance exams, many students also face pressure from friends to fit in or appear “cool.” This creates a

constant struggle between staying focused on studies and maintaining social (1) The fear of missing out on group activities
or being judged can distract even the most serious learners. Over time, this pressure builds up and may lead to (2) stress.
Some students feel torn between expectations and personal goals, unsure of what truly matters. Experts say the key is to set clear
priorities and learn to say (3) when needed. Building confidence and developing time-management skills can help students
find balance. In the end, choosing self-growth over temporary approval brings long-term (4) True friends will never ask you
to (5) your dreams just to fit in.
(5)

share

delay

chase

Q.No: 117 Find the misspelt word.
Garrulous
grateful

guarantee

Q.No: 118  Select the correct passive form of the given sentence.
"The principal might be watching the surveillance footage."

The surveillance footage is being watched.
The surveillance footage might watched.

The surveillance footage might be watched.

he survelllance footage might be being watched by the principal

Q.No: 119 Select the most appropriate homonym.
They had a heated row last night.

Argument
Line

Boat

QNo: 120  Select the correct active form of the given sentence.
"The homework is being checked by the teacher.”

he teacher Is checking the homework

The teacher was checking the homework.

The teacher checks the homewark.

The teacher has checked the homework.
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Q.No: 121 Find the incorrect part of the sentence:
| have visited Agra last month.

No error
last menth

Agra

QNo: 122 Choose the antonym of ‘candid”:

Deceitful

Blunt

Frank

QNo: 123 Arrange the sentence parts:
(A) the painter (B) has completed (C) the mural (D) beautifully

ABDC
ACBD

BACD

Q.No: 124  Select the most appropriate option to fill in the blank.
The teacher was angry the students.

with

by

on

Q.No: 125 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence,/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Time management helps improve productivity. P: Procrastination leads to wasted hours. Q: Creating a schedule prevents delays. R: It
gives direction and reduces stress. S; Staying disciplined is the key. 6. Success often depends on how we manage time.

PQSR
SRPQ
Ty

QPRS

Q.No: 126  Select the most appropriate option to improve the bold part of the sentence.
He behaves as if he knows everything.

known everything

new everything
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has known everything

have known all

Q.No: 127  Select the option that expresses the given sentence in Direct to Indirect Speech.
They said, "We are watching a movie."

They said that they had watched a movie.

hey said that they were watching a movie

They said that they watched a movie.

They said that they are watching a movie.

Q.No: 128  Select the most appropriate option te fill in the blank.
She __ watching that movie already.

had

having

have

QNo: 129  Choose the correct direct speech form of the following sentence.
Sobhit said that he could speak more fluently than Rahul.
Sobhit said, "I can speak most fluently than Rahul."

Sobhit said, "I can speak more fluentlier than Rahul."

obhit said, "1 can speak more fluently than Rahul.

Sobhit said, "I can spoke more fluently than Rahul."

QNo: 130 The idiom 'Token strike' implies:

No protest

Heavy protest

Silent protest

Q.No: 131 What does the idiom ‘Bury the hatchet’ mean?
Fight again

Hide weapons

Ignore a problem

dkKe peace

QNo: 132 Choose the correct sequence to form a meaningful sentence:
(A) playing (B) children (C) were (D) in the park
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CBAD

BDCA

BACD

QNo: 133 Select the synonym of Recalcitrant.
Loyal

Dicobedient

Submissive

Supportive

Q.No: 134 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Mathematics is essential in daily life. P: Calculating discounts helps in shopping. Q: Managing time also involves math skills. R: From
money to measurements, it is everywhere. S: Even cooking depends on ratios and quantities. 6. So, learning math has practical
value.

QRSP
PRSQ
RPSQ

SE

Q.No: 135 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

It started raining in the evening. P: People ran to shelters. Q: Water collected on roads. R: Traffic moved slowly. S: Many opened their
umbrellas. 6. It was a heavy shower.

SRPQ
QPR3
PORS

PSRQ

Q.No: 136 Choose the part of the sentence that contains an error:
She does not know to swim.

She does not

Swim

No error

Q.No: 137  Choose the best one-word substitute for:
"An inscription written on stone in the memory of a deceased person."

Epigraph
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Memoir

Autograph

Q.No: 138 Choose the correct option that replaces the underline word/phrase in the following sentence:
Sujata put in the best dress for the party.

put off
put across

put o

put out

QNo: 139 What does the idiom ‘Get to the point’ mean?

Interrupt
Avoid the matter

Speak indirectly

Q.No: 140 | Select the most appropriate option to improve the bold part of the sentence.
She did her work very good.

ery we
too well
quite good

really great

Q.No: 141 Select the most appropriate homonym.
The guards will watch over the premises.

Protect
Warn

Observe

Q.No: 142 Choose the correct indirect speech form of the following sentence.
Mohan told Radha, "I have seen you many times in the market since last year."
Mohan told Radha that he had seen her many times in the market since last year.

Mohan told Radha that he had seen her many times in the market since the following year.

ohan told Radha that he had seen her many times in the market since the previous year

Mohan told Radha that she had seen him many times in the market since the previous year.
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Q.No: 143 Arrange the sentence parts:
(A) in his bag (B) kept (C) the documents (D) he

DCBA

DB LA

DABC

BACD

Q.No: 144 Select the correct passive form of the given sentence,
"The committee had rejected the proposal.”

he proposal had been rejected by the committee

The proposal was rejecting.
The proposal was rejected by the committee.

The proposal is rejected.

Q.No: 145  Choose the correctly spelt word:
Magnanemous
Magnanimus

Magnanamous

agnanimou

Q.No: 146 Choose the correct direct speech form of the following sentence.
Ravi requested his friend to turn the music down.

Ravi said, "will you please turn the music down?"

Ravi said to his friend, "Are you going to turn the music down?"

Ravi said to his friend, "I request you to turn the music down."

avi said to his friend, "Please turn the music down.

QNo: 147  Select the correct active form.
"Was the culprit being chased by the police?"

Had the paolice chased the culprit?

Did the police chase the culprit?

as the police chasing the culprit?

Is the police chasing the culprit?

Q.No: 148 Choose the correct option to complete the sentence.
Due to the accident, she had a deep on her arm.
wind

wounded
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wand

wound

Q.No: 149  Choose the one which can be substituted for the given sentence.
A person without a settled home

Moble

Mative

Tenant

QNo: 150  What does the idiom ‘Jack up the rates’ mean?
Drop prices
Stay unchanged

Sell everything

Q.No: 151 | Select the most appropriate option to improve the bold part of the sentence.
She was not enough tall to play basketball.

too short
not tall

very shart

ot tall enought

Q.No: 152 Select the most appropriate option to fill in the blank.
She was brought ___ by her grandmaother.

out

off

‘

Q.No: 153 Select the most appropriate option to fill in the blank.
The sun rises ____ the east.

by
at

an

‘

Q.No: 154 | Select the most appropriate option to improve the bold part of the sentence.
She succeeded by virtue of her talent.

owing of
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because

due to

QNo: 155  Choose the antonym of ‘diligent’:

Meticulous
Efficient

Laz)]

Hardwarking

QNo: 156  Select the synonym of Insolent.

Pisrespectiul
Gentle
Polite

Courteous

Q.No: 157  Select the most appropriate option to improve the bold part of the sentence.
She has did her homework already.

made homework

made her homework

doing her homework

Q.No: 158 Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "Who knows the answer?"

She told who knows the answer.
She asked who knows the answer.

She said who is knowing the answer.

Q.No: 159  Choose the correct option to complete the sentence.
She contracted a cold and had problems with stuffy

knows

A=

nose

noose

Q.No: 160  Select the most appropriate option to improve the bold part of the sentence.
We enjoyed during the party last night.
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have enjoyed in party

enjoyed ourselves at the party

had enjoyment during party

enjoyed in the party

QNo: 161 Select the optien that expresses the given sentence in Direct Speech.
They said that they were supposed to arrive earlier.

They said, "We should arrive earlier.”
They said, "We were supposed to arrive earlier.”

They said, "We have to arrive earlier."

hey said, "We are supposed to arrive earlier.

Q.No: 162 Find the incorrect part of the sentence:
She is better in mathematics than English.

l"ﬁ
al
No error

She is

Q.No: 163 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence,/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Artificial Intelligence is transforming global industries. P: However, ethical concerns about its use persist. Q: It improves efficiency in
sectors like healthcare and finance. R: There is fear of job loss due to automation. S: Policymakers are debating how to requlate its
growth. 6. A balanced approach is needed to harness Al's potential.

QPRS

QRSP

RPQS

Q.No: 164  Choose the correct spelling for a word meaning 'not important'.

Triveal

Triveel

Triviel

Q.No: 165  Choose the antonym of 'withdraw':

Advance

Recede
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Deduct

Q.No: 166 Choose the part of the sentence that contains an error:
| prefer tea than coffee.

coffee

| prefer

tea than

Q.No: 167  Select the most appropriate option to fill in the blank.
He insisted ____ paying the bill.

at

an

by

Q.No: 168 | Select the most appropriate option to improve the bold part of the sentence.
¥ou must refrain to smoke.

quit from smoke
stop to smoke

stop of smoking

efrain from smokin

Q.No: 169 ldentify the incorrect spelling.
M alieasance]
Magnanimous

Insatiable

Perserverance

Q.No: 170 Which word is closest in meaning to 'Castigate'?
Vague
Dull

Dark

Q.No: 171 Select the correct active form.
"This error could have been avoided by careful planning.”

This error could be avoided by careful planning.

Someone could have avoided this error.

This error could not have been made.
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areful planning could have avoided this error

Q.No: 172 Identify the part containing a grammatical or structural error:
The news are too good to be true.

No error

are too good

The news

to be true

QNo: 173 What does the idiom ‘Speak your mind’ mean?

EXpress frankly
Stay silent

Lie

Gossip

Q.No: 174 Choose the one which can be substituted for the given sentence.
An imaginary ideal place of perfection

Monarchy
Dtopig
Fable

Dystopia

QNo: 175 Select the synonym of Amiable.
Friendly

Rude

Hostile

Cold

Q.No: 176 Select the most appropriate option to fill in the blank.
The workers agitated better working conditions.

at

by

Q.No: 177 Find the incorrect part of the sentence:
The sceneries of Ooty were wonderful.

of Doty

The sceneries
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were wonderful

Q.No: 178 Select the most appropriate option to fill in the blank.
They prefer tea ___ coffee.

than

from

Q.No: 179 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts —= P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Climate change remains one of the biggest challenges of our time. P. Shifting rainfall patterns are already affecting agriculture. Q.
Melting glaciers are disrupting water supplies in many regions. R. Its impacts are visible across the globe. 5. Rising sea levels
threaten low-lying coastal areas. 6. Urgent global collaboration is essential to tackle it.

PR3Q
a0
RQPS

QSPR

Q.No: 180 Rearrange the parts of this sentence:
(A) several measures (B) have been introduced (C) by the government (D) to control inflation

CBAD

BCAD

BACD

Q.No: 181 Choose the correct indirect speech form of the following sentence.
He said, "Where are you going at this time of the day?"

He asked me where | was going at this time of the day.

e asked me where | was going af that time of the da

He asked me where was | going at this time of the day.

He asked me where was | going at that time of the day.

Q.No: 182 Change the voice of the following sentence.
The satellite has been launched successfully by ISRO.

ISRO have launched the satellite successfully.

SRO has launched the satellite successfull

ISRO has launch the satellite successfully.
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ISRO has launched the satellite successful.

Q.No: 183  Choose the one which can be substituted for the given sentence.
A person who is extremely selective or difficult to please

Docile

Hostile

Gullible

QNo: 184  Select the synonym of Esoteric.

Common

steriou

Popular

Clear

Q.No: 185  Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "How | wish | could meet him once!"

She hoped she would meet him.

She exclaimed that she could meet him once.

She asked that she meet him once.

Q.No: 186 | Choose the correct active voice form of the sentence:
"all the books had been neatly arranged on the shelves by my grandfather.'

My grand father has neatly arranged all the books on the shelves.

My grand father had arranged all the books on the shelves.

My grand father have neatly arranged all the beoks on the shelves.

rand father had neatly arranged all the books on the shelves.

Q.No: 187  Select the opticn that expresses the given sentence in Direct to Indirect Speech.
He zaid, "I must reach early.”

He said that he should reach early.

e sald that he must reach earl

He said that he will reach early.

He said that he had to reach early.

Q.No: 188  Choose the one which can be substituted for the given sentence.
A person who has long experience in a field

Movice
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Trainee

Amateur

Q.No: 189  Choose the part of the sentence that contains an error:
She resembles with her mother.

mother
with her mother]
She resembles

No error

Q.No: 190  Select the most appropriate option to improve the bold part of the sentence.
The criminal was accused for theft.

0T theft

on theft
about theft

with theft

Q.No: 191 Identify the part containing a grammatical or structural error:
He asked me that where | was going.

| was going

He asked me

that where

Q.No: 192 Find the incorrect part of the sentence:
She married with a doctor.

with a doctor
witH
She married

No error

Q.No: 193 Select the most appropriate option to fill in the blank.
The child has been missing ____ yesterday.

on

from

for

Q.No: 194 Change the following sentence into active voice:
The bill was passed in the parliament.

The members of the parliament passed the bill in the parliament.
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he parliament passed the bill

The bill has passed in the parliament.

They have passed the bill in the parliament.

QNo: 195  Pick the antonym of 'Knave'.
Shady

Fuzzy

Dark

Paragon

QNo:196  Choose the one which can be substituted for the given sentence.
A short stay at a place

Odyssey

Peregrination

‘

Exodus

Q.No: 197 Choose the correct option to complete the sentence.

The hospital staff ensured proper conditions in every ward.
sanity
sanitarium

sanitery

Q.No: 198  Select the most appropriate option to improve the bold part of the sentence.
| have visited Delhi last year.

visited
was visiting

did visit

QNo: 199  Choose the antonym of ‘audacity’:

Boldness

Bravery

Modesty

QNo:200  Choose the antonym of ‘durable’:
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